



Lecture 10. Rules of Differentiation

Prof. Dr. Ruma Kareem K. Ajeena

ا.د. رومی کریم خضر عجینة

م.د. سهاد احمد احمد

Dr. Suhad Ahmed Ahmed

**College of Education for Pure Science - Ibn
Al-Haitham**

University of Baghdad

ruma.usm2015@gmail.com

2024-2025

Rules of Differentiations:

There are several rules of differentiations that are given as follows.

1. If $f(x) = c$, where c is a constant then $f'(x) = 0$.

For example. 1) $f(x) = 3$, $f'(x) = 0$.

$$2) y = f(x) = -5, y' = 0.$$

2. If $f(x) = cx$, then $f'(x) = c$.

For example. 1) $f(x) = 2x$ then $f'(x) = 2$.

$$2) f(x) = -3x \text{ then } f'(x) = -3.$$

3. If $f(x) = cx^n$, then $f'(x) = cnx^{n-1}$.

For example. 1) $f(x) = 2x^3$ then $f'(x) = 2 \cdot 3x^2 = 6x^2$.

$$2) f(x) = -5x^4 \text{ then } f'(x) = -20x^3.$$

4. If $f(x)$ is a polynomial given by $f(x) = a_nx^n + a_{n-1}x^{n-1} + \dots + ax + a_0$

Then $f'(x) = a_nx^{n-1} + a_{n-1}(n-1)x^{n-2} + \dots + a$.

For example. 1) $f(x) = 3x^3 - 2x + 3$ then $f'(x) = 9x^2 - 2$.

$$2) y = x^3 + x^2 - x + 2 \text{ then } y' = 3x^2 + 2x - 1.$$

$$3) f(x) = x^{-2} + x^{-5} + x^2 + 2x - 1 \text{ then}$$

$$f'(x) = -2x^{-3} - 5x^{-6} + 2x + 2.$$

$$4) f(x) = x^2 + x^{-3} + x^{1/2} + x^{3/2} + 2 \text{ then}$$

$$f'(x) = 2x - 3x^{-4} + \frac{1}{2}x^{-\frac{1}{2}} + \frac{3}{2}x^{\frac{1}{2}}.$$

Computer Science Department
1st Class: Mathematics

5. $f(x) = h(x) g(x)$ then $f'(x) = h(x)g'(x) + g(x)h'(x)$.

For example. If $f(x) = (2x + 5)(x^2 + 2)$ then

$$\begin{aligned}f'(x) &= (2x + 5)(2x) + (x^2 + 2)2 \\&= 4x^2 + 10x + 2x^2 + 4 \\&= 6x^2 + 10x + 4.\end{aligned}$$

6. If $f(x) = (x^2 + 2)^2$ then $f'(x) = 2(x^2 + 2)2x = 4x^3 + 8x$.

Another example, If $y = (x^3 - 2x)^3$ then

$$y' = 3(x^3 - 2x)(3x^2 - 2) = (9x^2 - 6)(x^3 - 2x).$$

7. If $f(x) = h(x)/g(x)$, where $g(x) \neq 0$ then

$$f'(x) = \frac{g(x)h'(x) - h(x)g'(x)}{[g(x)]^2}.$$

For example. 1) Let $f(x) = \frac{x^2 + 2}{x - 5}$, find $f'(x)$.

Solution.

$$\begin{aligned}f'(x) &= \frac{(x - 5)(2x) - (x^2 + 2)(1)}{(x - 5)^2} \\&= \frac{2x^2 - 10x - x^2 - 2}{x^2 - 10x + 25} \\&= \frac{x^2 - 10x - 2}{x^2 - 10x + 25}.\end{aligned}$$

2) Let $f(x) = \frac{3x^3 - 2x}{x^2 + 3}$, find $f'(x)$.

Computer Science Department
1st Class: Mathematics

$$\begin{aligned}f'(x) &= \frac{(x^2 + 3)(9x^2 - 2) - (3x^3 - 2x)(2x)}{(x^2 + 3)^2} \\&= \frac{9x^4 - 2x^2 + 27x^2 - 6 - 6x^3 + 4x}{x^4 + 6x^2 + 9} \\&= \frac{9x^4 - 6x^3 + 25x^2 + 4x - 6}{x^4 + 6x^2 + 9}.\end{aligned}$$

8. If $f(x) = \sqrt{x} = x^{\frac{1}{2}}$ then $f'(x) = \frac{1}{2\sqrt{x}}$.

If $f(x) = \sqrt[3]{x} = x^{\frac{1}{3}}$ then $f'(x) = \frac{1}{3\sqrt{x^2}}$.

If $f(x) = \sqrt[4]{x} = x^{\frac{1}{4}}$ then $f'(x) = \frac{1}{4\sqrt{x^3}}$.